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Instructions for candidates :

1. This question paper is in two parts.

2. Part - I is related to Reasoning Test which
consists of 30 questions.

3. Part - II relates to Scholastic Aptitude Test
which consists of 120 questions relating to six

subjects listed below :

1)  Mathematics : 30
i1)  Science : 30
ii1)  Social Studies : 30
iv)  Punjabi : 10
v)  English : 10
vi) Hindi : 10

4. Each question carries one mark. All questions
are compulsory.

5. You have been provided an answer sheet
(OMR) for this question booklet. Darken the
circle of correct option of each question in the
answer sheet (OMR) with black/blue ball pen.

6. Rough work may be done on the blank space
provided for this purpose.

7. Thereis nonegative marking in this test.

8. Donotuse white fluid on Answer Sheet (OMR) .

AT 3Ue I&HA: 150

EitesTat Bet geTfeat:

1. feoymsysgegarfead|

2. Ufo®T 9791 399 Ga3T 5% AEU3 7, fAar feg
30 URG I5 |

3. ©d 97 feg fefirdt & Garzr &% fguz
fors anme & fefmit € 120 A& 95 |

1. dfez : 30
2. WTER : 30
3. mHTAd fefamrs - 30
4. Uardt : 10
5. WJrdHt : 10
6. faet : 10

4. TIIYAS T e AT T IATT YAS AgaT 95 |

5. 3% fen yns unaf3ar s¢t feq €39 die
(&) fa St Ar<ait | €39 "ie (& Wiy
o) fee s e Adt €39 € I8 § T8 /a518
T8 US 58 IS €IN' S |

6. IOTIHfESTIET U g I AITATHICTT |

7. fem W fe9 foerana (&difew) Hrafdar
&4t T |

8. €3gre (€. 0. mg.) €ug Teite efels &
TIISTAITAR |
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PART - 1 (REASONING)

€r o339 €t 9= &9 7 TTHl, 3T »3 AeeIt

(3) (4)

(1) (2)

€r fg39 &t 9= &9 7 f3asi, g9 gA=' %

©0 MO ¥
(1) (2) (3) 4)

YsH3 muE we 3° 15 fadHies €39 ferr <
7l 31 feg 89 ¥ vz ¥ 8 fadHies gm<t
317 8oy we 3 33 fadhiles g9 37
(1) 7faHites (2) 17fo@Htes

(3) 21fadftes  (4) 23fo@Hes

fae €3 8 3 fx fes ufost Aaters A 3
8T T &g 3 amiE faogT fes J=ar?

() gueg (2) "3T9

(3) AHE9 (4) Hawerg

f€x 12 AH 37" =& WS § 3 AH A" T3 &¢
Wt &g deT 3 95 fds we gE541?

(1) 4 (2) 16

(3) 36 (4) 64

¥ difentt ¥ wnifesst @9 nmigu3 64:729

J18T5 T u3Tent S nigums &t 3=ar?
() 4:7 (2) 16:81
(3) 9:16 4) 2:3

Identify the diagram that best represents the
relationship among Elephants, Wolves, Animals.

(3) (4)

(1) (2)

Identify the diagram that best represents the
relationship among Triangles, Four-sided figures
and Square.

©0 MO Y
(1) (2) (3) 4)

Prabhjot walks from her house 15km toward North,
then she turns left and walks 8km. Now how much
she s farfrom her house.

(1) 7km 2 17km
3)  21km 4)  23km

If the day before yesterday was Saturday, What will
be the day after tomorrow?

W) Wednesday 2) Sunday

(3) Monday (4) Tuesday

Acube of aside 12cm s cutinto small cubes of side
3cm. How many small cubes can be formed?

(1) 4 () 16
3) 36 (4) 64

The ratio of volume of two Spheres is 64:729. What
is theratio in their areas?

W) 4:7 (2) 16:81

(3) 9:16 (4) 2:3



fesgem (YyAs 7-9) :

Jot fo3 ymst S8 939 A,B,C 3 D AHfAT
fg39 g5 i3 (1),(2),(3) M3 (4) €39 fo39
T5IfSsgAm3 B RE AT Adu T, BR 3g &
Aeg f939 ¢ »3 D &9 AEfUs 9 &t 3l

fgsgdtgz ae:
AT fo39
OO O] ?
A B c D
SECRCES)
SHEGHGII®
1) (2) (3) (4)
A fi39
- |IOO]O| ?
A B c D
CECRCES)
OO OO
(1) (2 (3) (4)
o mifmr i

A B C D
CECRCES]
(1) (2 (3) (4)

Each of the following question constitute A,B,C
and D as problem figure while (1),(2),(3) and (4)
constitute answer figure. There is a definite
relationship between figure A and B. Establish a
similar relationship between figure C and D by

Directions (Questions 7-9):

choosing a suitable answer figure.

Problem Figure

O

S

O

f?

A B c D
Answer Figures

1

()

Problem Figure

©)

(4)

[]

[=]

A B c D
Answer Figures
(1) 2 3 4)

Problem Figure

\[/

/J\

L

A B c D
Answer Figures
(1) 2 (3) (4)




10. Tt &3 yms ffo wet &t farsst a9

.

(1) 85 2) 9
(3) 89 (4) 81
fooem (YRs 11-12) :
Jstfe3 gda yms Re fdss () T aus gar g
&3 ay3 nigA™ 395 wEt &3 are feawmut &8°
At feamu S 8= &9

11.
?
()
1) (2) (3) 4)
12.
?
(x)
e
(1) (2 (3) (4)

13. #d9 ‘HT’ ‘U’ T, ‘Ut ‘A’ T, ‘RIS’
‘Se%’ T, ‘S8’ ‘vAHS’ I, CTAHS’
‘Aded’ I, ‘mied’ ‘g3’ I, 3T TR 9t
fog g@=anit?

(1) #HA3A (2) IA3T
(3) uret (4) e

10.

Infollowing question count number of cubes:

p

(1) 85 2) 90
(3) 89 (4) 81

Directions (Questions 11-12)

11.

12.

13.

In each of the following questions complete the
missing portion of figure (X) according to the given
pattern by selecting correct option from the given
alternatives:

?
0
M @ @ @
?
0
prd
m @ @ @

If the ‘rain’ is ‘water’, ‘water’ is ‘road’, ‘road’ is
‘cloud’, ‘cloud’is ‘sky’, ‘sky’ is ‘sea’, ‘sea’ is ‘path’,

then where do cars move?
(1 Road (2) Path
(3) Water (4) Cloud



fsgem (Yyrs 14-15) :

14.

15.

16.

17.

18.

Jat fo3 g9a yrs {9 939 (X) ® Ut € Adt

i < F3 oot R 9= =9
@.'
B} .
&) (@ (D) (&
(1) (2 3 4
1 [ [x] [x]
(1) 2 3) )

w3t it gEr 3:30 = &S fearst = a=
g T TS|

(1) 40° (2) 30°

(3) 60’ 4) 75°

A%9 1 AG=t 2008 § AHS'S Hl, 3T 31 TRET
2008 3 foaga fes I=ar?

(1) AHRS (2) du=9

(3) Ha®eg (4) HIITI

nis<t BEt fS9 o 39 fefenradt s 13fas &
et &9 usd U 3° 18 = 389 J18T7 &t
fSe s U R I s AEs 3 T

(1) 18 (2) 22

(3) 32 (4) 19

fsgem (YyAs 19-20) :

19.

I fou quat § fans 576 U »isS yrs 19 s
202 €39 feB:-

i.  AW3 B fIEt mi3 viagmt uFT TS|

ii. €3 BIdE NS ia9H UFET TS|

ii. D3 AffIE w3 forrgug 8T 5|

iv. En3 B faRedt wis At ug 8T o5

ug8erI?
(1 A (2) B
(3) C (4) D

Directions (Questions 14-15):

14,

15.

16.

17.

18.

In each of the following questions choose the
correct water image of figure (X) from given
alternatives:

o

(28D

(CED
()

) @) @
x| [x] [x] [2x
Mm@ @ @)

Find the angle between the hands of the clock at
3:30.

(1) 40° 2) 30

(3) 60 @) 75

If 1st January 2008 was Monday, then what day of
the week was 31st December 2008?

(1) Monday (2)  Wednesday

(3)  Tuesday (4)  Friday

There are 39 students in class 8th. Rohit is on 18th
place from the top. On which place he is from the
bottom.

(M 18 (2 22

3) 32 4 19

Directions (Questions 19-20) :

Read the given sentences carefully and answer the
question no. 19 & 20:

i. Aand B teaches Hindi and English.

ii. C and B teaches Geography and English.
ii.  DandAteaches Hindiand Maths.

iv.  EandB teaches History and Punjabi.

Which teacher teaches maximum subjects among
them?

(1) A 2) B

@ C 4 D



20. fa3 niftmmsx forme w3 it 82 fely uz@R

I&°7
(1) AM3B (2) Cnm3B
(3) CmM3D (4) AM3D

21. I o8 AETt § HEEAH H MGA™S a9:

1. Divide 2. Devine
3. Divest 4. Direct

5. Divisions

(l) 2,4’]7573 (2) 2’471,3’5
(3) 2,4,3,1,5 (4) 3,5,4,1,2

fsaem (YyAs 22-23)

J5 &3 f939 g AHS & J5 &3 yme' @ €39

fe@:
At 3= AN 7 [ ¥ A
)
8 12 5 1a
— UIH
B 14
|

11
/5 \—u3 fou 8w

TIAGT TS|

22. fa3 ‘u3 feu &’ ‘mfodt’ st 952
(1) 10 2) 4
3) 11 4) 9

23. f&& ‘mfodt 8, & 3t ‘&K A=K’ TS, & It

‘UZ fou B’ TEMI &It ‘YIH’ TS?
(1 3 (2) 5
(3) 6 4) 10

fsgem (YyAs 24-25) ¢
Jat &3 yrst 39 ao3/2u9 nia 7t yw €1 E€3

feamyt fS5° 9= a9:
24. (1) 353 (2) 234
(3) 123 (4) 456
25. (1) EHG (2) IML

(3) PSR (4) UYX

20. Which teachers teach Maths and Hindi both

subjects?
(1) AandB (2) CandB
(3) CandD (4) AandD
21. Arrange the following words as per dictionary
order:
1. Divide 2. Devine
3. Divest 4. Direct
5. Divisions
(1) 2,4,1,5,3 (2) 24,135
(3) 24,315 (4) 3,54,1,2

Directions (Questions 22-23)
Understand the given figure and answer the
following questions:

T

Urban People 1-’:1“' T
iy
&

8 12

~—— Public sarvanta

13

— Maloz

8 12
11

! 3 \_\—" Educated People

In the given figure, Rectangle represents 'Males',
Circle represents 'Urban People', Square represents
'Public Servants' and Triangle represents 'Educated

People'.

22, How many 'educated people' are not 'urban
people'?
(1) 10 (2) 4
3) " (4) 9

23. What is the number of 'Urban People', who are
neither 'public servants' nor 'educated people’ and
'males'?
(1 3 (2 5
3) 6 (4) 10

Directions(Questions 24-25) :
Find the wrong/odd number or term from the given

options:
24. (1) 353 (2) 234
(3) 123 4) 456
25. (1) EHG (2) JML
(3) PSR (4) uYx



26. BUI AT UITHS:

12 (16 | 12

22 | 28 | 64

44 116 | ?
(1) 96 (2) 120
(3) 132 (4) 144

(1) 36
(3) 125

fsoem (YAs 28-30) :

Jat €3 yms' i$9 f&a nia/miye 3t &3t arst
3, 7 fa f&x Ues <9 7167 Ueas g fimrs
fSo ¥ & &=t g Y™ I35 BET AT €39 S I

CCH

28. 94,36,18, .

Gy
3) 8

29. 31,37,41,43,47,53

(2) 8
(4) 216

4) 12

......

(1) 55 (2) 57
(3) 59 (4) 63
30. PMT,NOS,LQR,JSQ,........
(1) Hup (2) GUP
(3) KVR (4) WP

26.

27.

Find the missing term:

12 (|16 | 12
22 | 28 | 64
44 |16 | ?
(1) 9% 2)
(3) 132 (4)

Find the missing term:

(1) 36
3) 125

Directions (Questions 28-30) :
There is a number/letter series, which follows a
pattern. Follow the similar pattern and find out the
correct answer from the given options to complete

28.

29.

30.

the series:

94,36,18, ........
1 5
3 8

31,37,41,43,47,53......
(1) 55
3) 59

PMT,NOS, LQR, JSQ,
(1) HUP
(3) KW

57
63

GUP
WP



31.

32.

33.

34.

35.

36.

37.

38.

Part- Il (SCHOLASTIC APTITUDE )

faador ggga T fexgst v I St gmar Gast
gggHT © It gva1 e AfEs &t Jer 37

(1) »e3H (2) €33

3) (N3 (2) (4) fegs &g gt st
f&x nrrfes fam Tt gaet 3 Aidhiica n3 4
Adhiles d= 3t 8T feaas <t Baet A&t
J3at?

(1) 4RZhHteg (2) 1ATHIeT

(3) 7RZhieT (4) SHZhHeT

f&€x mEgeH T 99X niTgal AT T HY UsT
&9, fAAEnrt 9 garet 9=

(1 120° (2) 105"

(3) 40° (4) 140°

Felu T fusTdt e ATlu §t BHe T 35 = T
12 A% g€ Aoty ¥ fusT €t 81T Br<t BHa &t
TaIEt Ifg Freant | ey € S93Hs e usT 9|
(1) 107 (2) 12 A%
(3) 247 (4) 36 AT

fox nrfesarg use @ Jaet w3 IFE =
VU3 11: 4 T 1 feR use &t gradie<t a9 Bet
100 guT yIt Hieg &t B9 &% 75000 gUT =
HITT T I I fFER UGS e T u3IeB USTAJ |

(1) 27500=IIHeT  (2) 2750 TIaTHeT
(3) 22500=F3gaTHted  (4) 30800 TJa1 Hizg

et aret mftera dm o
3x-2 2x+3 2

4+ 3 3 °
(1 2 (2) 5/2
3) 1 @ -

39 fEx w= € 99 fas™s g gareT AT Ae 3
WE T orfEss 48 =T Su Arar?
(1 23 (2) 4ger
(3) oger (4) 8

ff gae9 8 JUE T 10 ni3 ydteer I »3
10 JUT T 8 nifsnit T forrg s 3 féer T
TIHET TS A7 I YIS UST A

1

(1) 567% I&T  (2) 56, % &9

1

(3) zzi%m?ﬁ (4) 22-%3

31.

32,

33.

34.

35.

36.

37.

38.

Which are those polygons that have no any portion of
their diagonal in their exterior.
(1) Concave (2)
(3)  both(1)and(2) (4)

convex
None of these

What is the length of diagonals of a rectangle having
sides 3cmand 4cm?

(1) 4cm (2)  1cm

(3) 7cm (4) 5cm

Find the measure of each interior angle of a regular
polygon of 9 sides.

(1) 120° 2) 105

(3) 40° @)  140°

Sandeep's father's age is thrice time Sandeep's age.
After 12 years Sandeep's father will be just twice his
son. Find the present age of Sandeep.

(1) 10years (2)  12years

(3)  24years (4)  36years

The ratio of the length and breadth of rectangular plot
is 11:4 the cost of fencing the plot at the rate of 100
rupees per metre is Rs. 75000 . Find the area of the
plot.

(1) 27500m’ (2)  2750m’
(3)  22500m’ (4)  30800m’
Solve the given equation:
3x-2 2x+3 B 2

4 3 3 %
m 2 (2) 52
@ 1 4 -1

If each edge of a cube is doubled, then how many
times volume of cube be increased?

(1)  2times (2)  4times

(3) 6times (4) 8times

A shopkeeper buys 10 eggs for Rs 8 and sells at 8 for
Rs 10. Find his gain or loss percentage.
(1) 56%% Loss (2) 5641% profit

(3) 22%% Loss (4) 22%%proﬁt



39.

40.

41.

42.

43.

44,

45.

46.

afdes 3 fea rretas 575 9: fS9 udtfentt M3

125 gu® ferdt HoH3 'S udu o3| fag €3

feg rretas 770 gue & 39 st 1Brev &3

At IS yFR3 U3t AT
(1) 5% Jr&t

(3) 127 % &S

(2) 10% B
(4) 10% Tt

IIH S 120 gUT <t f&F Ir'E 3 400 JUT T
f&x & ydifenrr| GR3 AT S 5 % BINS ¥
3 5% T8t 3 39 fosT) 8Ae &5 &3 A Bt
UTII|

(1) STBFETIGT
3) 153uUesFT (4)
&3 gz fo39 @ =fenr »ifgz swar <t
yfsAssTusT 9|

(2) 183UE I
14 JUT I°&T

(1) 45%
(2) 33.34%
(3) 35%
(4) 37.5%

HisT g iftmr f$9° 28% nid yus a9t I
w3 12 »idt 5% % T At I I3 ferm
Ytfemrr f88° 40% nid yrus S9et I »is UA JF
ST BFT widt 7B 60 ik frreT yru3 9t
J1 yR I FE BFT vt T YIRS USTAS

(1) 30% (2) 33%
(3) 35% 4) 37%
[100-300T720% ] T 40% = =------
(1) o4 (2) 140

3) 16 4) 20

U3 3 fex a9 udtes ¥ Bt fan §x 3
100000 JUE, 10% AS'&T fenm 3 €ug &2
e faforA A geer R 3T 1 S M3 9
HOB Enisfeo QU usHIIE T BEI B8R &
faat It T gar3Ts 9T fumm?

(1) 118250 qu¥ 2) 17500 U

(3) 110750 qu® (4) 1267501 quE

50,000 guT &t 9L '3 1 A Bt fHAfes o
USTXS AT fx fonrd 8% €t w9 5% fandt gz
=

(1) 50003u® 2)
(3) 55000 9uT (4)

4080 uE
54080 quE

162 =TT HieT H39e® § YT T Bet 90 Hdt Hied
gAT TEft fXahrt T9arare fest &t 7gas
Ut ?

(1) 100 (2) 200

(3) 250 (4) 300

39.

40.

41.

42,

43.

44,

45,

46.

Surinder bought an old cycle for Rs 575 and spent
Rs 125 on its repair. Then he sold the cycle in Rs 770.
Find the loss or profit percentage.

(1) 5% Loss
(3) 123 % Profit

(2) 10% Profit
(4) 10% Loss
Rahul bought a ball for Rs 120 and a bat for Rs 400. He

sold the ball at a profit of 5% and bat at a loss of 5%.
Find the total profit or loss.

(1) NoProfitNoLoss  (2)
(3)  Rs.15 Profit (4)

Rs. 18 Profit
Rs. 14 Loss

In the given figure find the percentage of the shaded
region.

(1) 45%
(2)  33.34%
(3)  35%
(4)  375%

Meena scored 28% marks in an exam and failed by 12
marks. Ranjit scored 40% marks in the same exam
and obtained 60 marks more than the required marks
to pass. Find the required pass percentage for this
exam.

(1) 30% 2 33%
(3) 3% 4)  37%
40% of [100-20% 0f300]= =------

(1) 64 2) 140
(3) 16 (4) 20

Parneet borrowed Rs. 100000 from a bank to buy a
car at the rate of 10% p.a. compounded yearly. What
amount will she pay at the end of 1 years and 9
months to clear the loan?

Rs. 117500
Rs. 1267501

(1) Rs.118250 2)
(3)  Rs.110750 (4)

Find the compound interest on Rs 50000 for 1 Year,
when interest compounded at the rate of 8% half

yearly.
(1) Rs. 5000 (2)  Rs.4080
(3)  Rs. 55000 (4)  Rs.54080

How many square tiles of side 90 cm are needed to
coverafloorofarea 162 sqm.

(1) 100 (2) 200
(3) 250 (4) 300



47.

48.

49.

50.

51.

52.

53.

54.

55.

fe'x s Tve B UTALT AT T U39S 4224 TIA
Fehiiea 9| fer 3 fer Tt Gudt e nigAg e X
33 Adhiiea St &t fea nifesarg greg gt
A I I nrfEserg geg erufoHy usT a9

(1) 322FZMHed  (2) 310 RThHes

(3) 302ACHeT (4) 432 AchHtes

800 TJq1 HieT U39e® ¥ fEa niffesarg u3 &t
fiioret 1 160 we HieT Ut & 293" 1=t arst
J1 3 feg ust ¥ AT & ot ot 9=ait?

(1) 0.2Mtzg (2) 0.02Htzg

(3) 0.25Heg (4) 0.15Htzg

fe'sT famrr 9% s far gateafAet fee -
TY Fafgase’ € Uz JI9 fefenrmaghmt =t
fegws TIA T T17T niestal fefentagnt
o Aftmrr 1275 3= 3 galeafAdt f&e use

T fefenmadint & farst usT 9|

(1) 9500 s S
(2) 10000 | T <o
(3) 10100 \
(4) 10200 =

fex aar ST 3 &5, 5 BT 3 4 AT Fret
I | fer a1 89 ¥ are nievsa o=t At J1

HIesT UST o9 fx et aret sre ARE &sdt I
(1) 5/12 2) 1/4
(3) 2/3 4) 1/3

#a9 far fig = x fogem rix fAes T 3t fig
e Afgs 9<ar?

() ufgdtduretfes (2) gt daet feg
(3) x-TI3 (4) y-ua'3

Heustas: (272+ 371+ 47 1)1

-6 -5
1w < 2 2

6 5
(3) 3 (4) 3

fex gasee fEasrg wnifas s fereng @
ydle H® 3° 10% Su 98T J1fed 8o fem
TA3 3 10% =< feer I 1 gxae9 o &9 Af Iat

UEI-ERIE L C
(1) THFSMIFTITTS (2) 1% %3
(3) 1% Jm&at (4) 2% &3

fex Ages 50000 JUT &5 udtfenr fammi 8%
ASST Ot €9 &' feR € e fSo ot 7 argtifew

A g€ AgEY T HB USTAS |
(1) 450009us 2)  46640TUT
(3)  54000qu¥ 4)  46000FUE

g9st &t gew 3° g9t 149,600,000,000m T
fer gt = fimr<t gu ot I=ar?

(1)  1496X10"veg (2) 14.96X10"Hieq

(3) 149.6X10°vteT (4) 1496X10°vieq

47.

48.

49,

50.

51.

52,

53)

54,

55.

The lateral surface area of a hollow cylinder is
4224Cm’. It is cut along its height and formed a
rectangular sheet of width 33 cm. Find the perimeter
of the rectangular sheet.

(1)  322cm (2)
(3) 302cm (4)

160 m’ of water is to be used to irrigate a rectangular
field whose area is 800 m’. What will be the height of
the water levelin the field?

() 02m (2)
(3) 0.25m 4)

310cm
432¢cm

0.02m
0.15m

The following pie chart depicts the distribution of
students of different nationalities in a University. If
number of African students is 1275, find the total
number of students studying in the university.

(1) 9500 i
(2) 10000 i

(3) 10100 w
(4) 10200 U

A bag contains 3 red balls, 5 black balls, and 4 white
balls. A ball is drawn at random from the bag. What is
the probability that the ball drawn is not white?

(1 9512 2) 14

3) 213 4 13

Ifx-coordinate of a point is zero then this pointlies :

(1) Inthe1stquadrant (2)
(3)  Onx-axis (4)

Inthe 2nd quadrant
Ony-axis

Findthevalueof: (272 + 371+ 4°1)-1

-6 -5
m = 2 ¢

6 5
3) 3 (4) 3

A shopkeeper displays marked prices of an article
10% more than its actual cost price, then he gives 10%
discount on its marked price . Find his loss or profit

percentage.
(1) NoProfit, NoLoss (2)  1%loss
(3) 1% profit (4) 2% profit

A scooter was bought at Rs. 50,000. Its value
depreciated at the rate of 8% per annum. Find its value

afterone year.
(1)  Rs.45000 (2)  Rs.46640
(3)  Rs.54000 (4)  Rs.46000

The distance of the earth from sun is 149,600,000,000m.
The standard form this distanceis:

(1) 1.496X10"m (2)  14.96X10"m

(3)  149.6X10°m (4)  1496X10°m



56.

57.

58.

59.

60.
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write 16 in exponent form with base 4.
1) 4° 2) 4
3 4 4) 4

Which of the following statements is false?

(1) The coordinates of the origin are (0,0).

(2) A point whose x-coordinate is zero and y-
coordinate is non zero, will lie on the y axis.

(3) A point whose y-coordinate is zero and x-
coordinate is non zero, will lie on the y- axis.

(4)  Coordinates (3,4) and (4,3) represents two
differentpoints.

A postman cycles from a town to a neighbouring sub
urban area to deliver a parcel to a merchant. His
distance from the town at different times is shown in
the given graph. By observing the graph, find the
interval during which he rode fastest?

1) between10amand 11am
2) between8amand9am

3) between9amand 10am
4) between 11 amand 12 noon

Distance {in km)—>
FEES R R EEEEEE
\

9am 10am f1am 12Meon

Time —>

o
o
=

How can we describe the position of a dot on a graph,
which is 40 cm from left edge and 70 cm from bottom

edge:
(1) (70,40) (2)  (40,70)
(3)  Both(1)&(2) (4)  Noneofthese

Given Pie chart depicts the
favourite colour of 1000
students of a school.
Observing the given pie
chart and find which of the
following statements is true:
1) Number of students
who like red colour and
yellow colour is more
than the total number of students who like green
colourand blue colour.

2) The mostliked colouris Blue.

3) Total number of students who like red colour and
blue colour is less than half of the total number of
students.

4) Total number of students who like blue colour and
green colour are more than who like red colour and
yellow colour.
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Wooden and Iron boxes were placed on Sunita's table.
Both the boxes fell down when touched. Sunita found
that wooden box does not made any sound when
dropped but a special sound is heard when Iron box is
dropped. Which property of metals does it show?

(1) Sonority (2)
(3)  Ductility (4)

Malleability
Conductivity

Teacher taught the students that microorganisms are
so tiny that they cannot be seen with the naked eye.
The teacher showed microorganisms moving in
pond water with the help of an instrument. Can you
suggest the name of that instrument?

(1) Compound Microscope

(2)  Pinholecamera

(3)  Telescope

(4)  Electroscope

Hardeep saw that his brother Harjeet who is studying
in fourth standard was observing carefully that mother
was adding some curd in milk. Harjit was surprised
that how a small quantity of curd could convert whole
of milk into curd. Hardeep explained him that some
bacteria were responsible for this change. Can you
suggest the name of such bacterias?

(1) Rhizobium  (2)
(3) Yeast (4)

Lactobacillus
Micobacterium

Pooja saw an element dipped in kerosene oil in the
laboratory and asked her teacher about it. The
teacher told that it is a metal. Which metal is stored
under kerosene?

Silver
Copper

(1) Iron (2)
(3)  Sodium (4)

Which of the following non-metal is used as
antibiotic ?

(1) Chlorine (2)
(3) lodine (4)

Bromine
Oxygen

Manpreet got infected from cold some days ago and
his friend Arjun also got infected today. Their teacher
told them that there are some diseases which get
transmitted from infected person to healthy person
and are called Communicable diseases. Which one
of the following is not a communicable disease?

(1) Cholera (2)  Common cold

(3) TB. (4)  Goitre
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The teacher showed the
slide of Epithelial cell of
Cheek to Hardeep and
asked him to label ‘A"
Whatis the name of ‘A’

(1) Cellmembrane (2)
(3) Cytoplasm (4)

Nucleus
CellWall

The teacher told the students in the class that
some organisms give birth to young ones while
some lay eggs. Which of the following animals do
notlay eggs?

(1) Lizard (2) Hen

(3)  Sparrow (4) Buffalo

Name the process shown in the following diagram.

Pollination
Fertilization
Cloning
Metamorphism

=

1
2
3
4

—_—~ e~~~

An embryo develops in which part in human
female reproductive system?

(1) Ovary (2)  Fallopian tube

(3)  Uterus (4)  Stomach

Dilshad found two pieces of magnets from an old
speaker. When he join two pieces of the magnet
then the magnet attracts one pole of another
magnet but repels its another pole because:

1) Like poles ofamagnetattracteach other.
2)  Unlike poles ofamagnetrepel each other.
3)  Like poles of amagnetrepel each other.
4)  Noneofthe above

Rolling Frictionis more than................
(1)  Fluidfriction

(2)  Sliding friction

(3) Staticfriction

(4)  Allofthe above.
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While starting T.V., Ajay noticed that hairs from his
arm get attracted towards the T.V screen,
producing a low crackling sound. Why this
happened?

(1) Due to production of current from the screen.

2)  DuetoHairsofthearm.

3) DuetoContactforces

4)  Duetonon-contactelectro-staticattractions

(
(
(

What happens when opposite charged clouds
make contact ?

(1) Rain

(2)  Electroscope

(3)  ElectricEmission
(4)  Electrolysis

Whatis the unit of intensity of sound?
(1) Hertz (2) Pascal
(3)  Decibel (4)  Newton

Name the instrument by which speed of air
measures ?

(1)  Barometer (2)
(3)  Anemometer (4)

Sphygnometer
Aerometer

Name the phenomenon when light bounces back
after striking on the surface of mirror.

(1)  Refraction oflight

(2) Reflectionoflight

(3)  Scattering of light

(4) Noneofabove

In which one of the following devices, concept of
multiple reflection is applicable?

(1) Microscope (2) Telescope

(3)  Kaleidoscope (4) Allofthe above

Rajinder inserted an electric tester into water. He
noticed that bulb of the tester does not glow. What
could be the most probable reason for this ?

(1) Waterwasimpure. (2) Waterwas Salty

(3) Waterwas distilled (4) Waterwas chilled
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Kulwinder inserted open ends of two copper wire
into the Potato and attach other ends to the battery.
He noticed a green-blue spot at the point of insertion
around one end of wire while
there was no spot seen =
where second wire was
inserted. Can you guess the

terminal of the battery, to

which the wire with green-

blue spotis connected? @

1)

2)  Negative terminal

3)  Positive orNegative terminal
4)  Wireisnotattached to any terminal

Positive terminal

What will be the angle x in the following diagram?

s

, Plane
G Mirror
Incident Reflected
Rays Rays

1
Perpendicular

(1) 50degree 2)
(3)  30degree 4)

40 degree
60 degree

Which of the following statement is correct

regarding cone cells and rod cells present in the

retina of human eye?

(1) Cone cells are sensitive to dim light and rod
cells are sensitive to bright light.

(2)  Cone cells and rod cells both are sensitive to
bright light.

(3)  Cone cells and rod cells both are sensitive to
dimlight.

(4)  Cone cells are sensitive to bright light and rod
cells are sensitive to dim light.

Write three main parts of the cell?

) Nucleus, Plasma Membrane, Cytoplasm
) CellWall, Nucleus, Cytoplasm

) Mitochondria, Golgi Bodies, Ribosomes
) Allofabove

Inwhich part of the cell, organelles are present?
(1) Nucleus (2)  PlasmaMembrane
(3) Cytoplasm  (4) Protoplasm
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Eggs are formed in the
(1)  Testis (2) Penis
(3) Ovary (4) None of these

What is the jelly like substance between the nucleus
and the cellmembrane called?
(1) NuclearSap (2)
(3)  Protoplasm (4)

Cytoplasm
None of These

While praising new bicycle of Rambir, Rajdeep said
that handle of the bicycle was too shiny. Rambir said
that its handle does not even corrode. According to
you, Handle of the bicycle is electroplated with which
material?

(1) Chromium (2)
(3) lron (4)

Copper
Zinc

What is Foetus?
(1) Welldeveloped embryo

(2) Femalegamete
(3)  Zygote
(4) Malegamete

Kulveer told Raju that cells can only be seen with the
help of Microscope and not with naked eye. Raju was
not completely satisfied with his view. What example
Raju gave to justify his view?

(1) NerveCell (2) Epithelial cell of cheek
(3) Amoeba (4) Ostrichegg

Sound of women is shriller than sound of men

because length of vocal cords inwomenis ..............

than that of males.

(1) Greater

(2) Equal

(3)  Length of vocal cords has nothing to do with
shrillness of sound

(4)  Smaller

From where do we get pearls, oysters and
diamonds?

(1)  Forests (2)
(3)  Mountains (4)

Seas
None of these
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Navjot's grandfather tells him that some natural
resources are depleting very fast and they will not
be regained. What natural resources does Navjot's
grandfather talk about?

(1)  SolarEnergy (2) Petroleum
(3)  Soilresources (4) Water

It is a country where earthquakes occur frequently.
Despite the scarcity of resources, the country has
made great progress. Which country is this?

(1) America (2)
(3) Burma (4)

Japan
Australia

Due to its colour and brightness, it is an attractive
and expensive metal. People have been fond of
wearing jewellery and other ornaments made from
this metal. Which metal is this?

(1) Gold (2) Copper
(3)  Silver (4) Brass
Which cropis also known as white gold?
(1)  Cotton (2) Rice

(3) Maize (4) Millet

Which of the following statements is true?
Resources are a great gift of nature.
. Manhimselfis the biggest resource.

® >

1) AandBare correct

2)  AandBareincorrect.
3) AistrueandBisfalse
4)  AisfalseandBistrue.

—_~ e~~~

You all must have seen around your home or school
that some flowers or plants grow on their own. What
kind of vegetation is this?

(

1) Mountainous vegetation
(2)  Natural vegetation

(3)  Deciduous vegetation
(4)  Noneofthese

What type of soil is found in the area shown in the

given map?

(1)  Blacksoil
(2) Laterite soil
(3) Redsail

(4)  Alluvial soil
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Rohan went to Rajasthan. He noticed there that the
water goes down to the ground quickly. The crops
that need more water could not be grown there. What
type of soil is found in Rajasthan?

Laterite soil

Desert soil

Forestand Mountainous soil
Black soil

In the given map of India, which mineral is mostly
found in the shaded
region?

Coal
Iron
Gold
Natural gas

(1)
(2)
(3)
()

Name the first Portuguese Captain who reached
Calicut, inIndiaon 1498 AD by sea route?

(1) Vasco-de-Gama (2) Megasthenes

(3)  LordDupleix (4) Noneofthese

This battle was fought between the armies of Siraj-
ud-Daulah and Robert Clive, is also known as the
Battle of Plassey. When did this battle take place?

1757 AD.
1764 AD.

1857AD.
1784 AD.

(1)
()

(2)
(4)

Who gave the slogan "Delhi chalo"?
(1) Subash ChandraBose

(2)  Mahatma Gandhi

(3)  Shaheed Bhagat Singh

(4)  JawaharLalNehru

Which system of administration was abolished in
Bengal in 1772 AD, which established direct rule of
the British East India Company in Bengal and this
further enhanced the company's prominence?

Dual Administration System
SubsidiaryAlliance

Doctrine of Lapse

Single Administration System.



105.

106.

107.

108.

109.

110.

111.

112.

1832 TRt few dars few fonmi-y=st &t
AEUST far 3 si3t?

(1) ®I38 ITI&GSTTHA

(3) &3 3HBJH

(4) Budas feg It &dt

HoE faA eI I I8 A5 ?
(1) & HFAUI T

(2) g% didrug 3o

(3) feus gedus

(4) HJT3HT IOt

IJET Ut E AEUST e 1=t arEt?
(1) 1902 &t. (2) 1913 &t .
(3) 1885 &t. (4) 1905 .

‘EATs 3793 AT & AEST fagt gnraT dist
arEt?

(1) 393 fRw (2) I
(3) I3 II& SIT (4) SUIIZ AT
‘Fur Tt 3IF fam e niuzTET aEt?
(1) BISIBAS

(2) JIrgdc ABER

(3) &3 3BJH

(4) I8 IIGSSA

AG?

(1) erfeg Hitmr e yRaaisTA<|

(2) FEmfsar v feosufear § f£x gn 3°
TYABTAR

(3) FT83 3 AR ygg dWwe 3T A |

(4) Budas Ad

HISHT argt gnirgT 1920 €. fee fagsr
eSS FHTENT famr mt?

(1) &-fHoea3s nicss

(2) fAe® aT-gaHaT

(3) FIIEI VDS
(4) 3FtHIT

J=aH g fanr?
(1) 26 A&=IT 1930
(3) 26 A&IT 1950

(2) 26 A9 1940
(4) 26 Aa=It 1960

18

105.

106

107.

108.

109.

110.

11.

112.

Who established the jury system in Bengal in 1832
AD?
(1)

(2)
(3)
(4)

Lord Cornwallis
Lord William Bentick
Lord Dalhousie
None of the above

. Who said these words, "We do not want to maintain

relations with the Britishers. We want our own
governmentin India"?

Lala LajpatRai
Bal Gangadhar Tilak
Vipin Chander Pal

1
2
3
4 Mahatma Gandhi.

P
~_— — — ~—

=

henwas Ghadar Party formed?
) 1902AD. (2) 1913AD.
) 1885AD. (4) 1905AD.

—_
wW —

Who founded "Naujwan Bharat Sabha"?
(1)  BhagatSingh

(2) Rajguru

(3)  Bhagwati CharanVohra

(4)  Allofthe above

Who adopted the "The Doctrine of Lapse™?

(1) Lord Welleselly
(2)  RobertClive

(3)  LordDalhousie
(4)  Lord Cornwallis

Which were the main demands of the Indian National
Congress?

To spread education in the country
Toseparate the executive from legislature
Toreduce the expenditure being spent on military

(1)
(2)
(3)
(4)  Allofthe above

In 1920 AD, which movement was launched by
Mahatma Gandhiin India?

(1) Non-cooperation movement
(2)  Civildisobedience

(3)  QuitIndiaMovement

(4)  DandiMarch

When did India become a complete independent,
sovereign, democratic republic?
(1) 26January 1930 (2)
(3)  26January 1950 (4)

26 January 1940
26 January 1960
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114.

115.

116.

117.

118.

119.

120.

HE3 ni3 Ht Hed! fAfunr far 819 agy
Tafont g festAEt 37

(1) 11-14 7% (2) 4-15°%

(3) 6-18 7% (4) 6-147®

793 T Ufgd® THEIUS = AG?
(1) 3. 3IMeIyae

(2) Uf33 A=I9 ¥ Biad

(3) H IHeE Jfew

(4) HtEes &H

WETHIT T ISS 3T famm T2
(1) <ot nemst

(2) eHEES nEHST

(3) BAMTHI

(4) GUIIIHT |

(1) 1961 A<t (2) 1965 TRt
(3) 1960 ST (4) 1975 SR

nifaarat €t @BwET 9T 3 fona3t fam & /9w
FAXETT?

(1) Foaufssr (2) feusufsar
(3) fonufssr  (4) Qudas feg det &t |

g miAt mifaers yus a9sT Ige If, 3T A
®e I fofmit 8" fagt v usss I9aT Agat 92
(1) AH&3T=ET (2) TI3<tET

(3) TIHET (4) fegst feT agt st

¥ ATST BT ATST AHWGIH g% 8% ©f Aa3! faA %
REi kR

(1) THSIUST (2) yus H3dt
(3) fe3Hsdt (4) HaH3st
faodt A9ag ufgea3aris Iet 32
(1) 3&HJ (2) BF33IT
(3) HH3TE (4) Busaz A9
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13.

114.

115.

116.

17.

118.

119.

120.

Which age group of children is included in Free and
Compulsory Education?

(1)
(3)

11-14 years
6-18 years

(2)
(4)

4-15years
6-14 years

Who was the first President of India?

(1)  Dr.Rajindra Prasad

(2)  PanditJawaharLal Nehru
(3)  Sh.RamNathKovind

(4)  Sh.Abdul Kalam

For the purpose of giving cheap and speedy justice,
which types of courts are organized?

(1)
2)  Criminal courts
3) Lok Adalats

4)  Allofthe above

Civil courts
(
(
(

When did the 'Dowry Prohibition Act' came into
force?
(1)
(3)

1961AD
1960AD

1965AD
1975AD

(2)
(4)

Whom can we approach in case of violation of our
rights?

(1)
(3)

Executive
Judiciary

(2)
(4)

Legislature
None of the above

If we want to receive rights, which of the following
must we follow?

(1)
(3)

Duties
None of these

Equality
Religion

(2)
(4)

Who has the power to call the joint session of the
Parliament?

(1)
(3)

Prime Minister
Chief Minister

President
Finance Minister

(2)
(4)

Which government is adaptable to change?
(1)  Dictatorial (2)  Democratic
(3)  Feudalist (4)  Allofthe above



fogem : It fezTUaTuz & (YRS 3: 121-130) yAst T 8396 :

FHI T HEeT FUUS T SfeeT RS e Hg T JITvus T v €3 foSI mew Ag BT a0 3
HOT 299 3H e 75 | fEx-fEx Haw g wirt oarat fiffomr e =282 38 nmu@ uws g see ot Ifen
e g AT g9us Sif3nr Jer I 89 g Haat €1 uts Jet I i3 Arst nofiat fer €73 fogse ae<t 31
S5t &7 fAge ot €t I 3, afex fifesit © grst vis et erAE I feo A mufenit g S fes9
NABS T guU © et T 1 3t 38t a9 nifsaedt &7 a9 | feg ag3 Hideft feams T 1A=t feg RS
Uz & IHTEnr feg uarsT gend Sa Ay 8T 9 fer st 3t wfundt, 8rAsmei, Hfowrst, arefen,
gI=fanit, Hafanrt, fe@urdint® 3 f85-f85 yara & AHs 39T ofon 3° mae Y 3 AgS 17w fes
feg SHsturt, s, geamaintt, aitst, Iorstert, Tgnri- orfmrt &t €83 vifa T, 3T aEt At 8
BeHT €1 25-8€ 3 I996 JE 41 IfT AT | §Ft I TRt I X BT TF 3 ot I8 iU gEfEnr I

WA fou §F HEY T vi3HT T 939 T | T9US T AHT ASTSI i3 §87U &% &1 I8t I NSt Je I |

121. fiedit e gy v A9 3° T3 Hao fxa=7 37 126. 'BSH' HYIE T ANGTOES HEE J:-

(1) F9Us (2) #AE (1) 3" (2) g
(3) = @) 3 (3) HIT (4) feortas
122. gOUs feu HaHt v €73 ot fazfanr wier 32 127. 'S§%E TF 3 o T UTT FTENT I’ T
(1) fumrg (2) ®ed &% faazT feram fog Sdar?
(3) 93 (4) TH (1) 3t (2) g
(3) YHETI (4) ferfhx i

123. 'S<fon HEE T mSE J:-
(1) TTITI&TH  (2) TIIAIATH
(3) UHTEET®  (4) TUIFETITH

128 'gOus Hue famR farH e &= T7?
(1) YMH 3 (2) YHSGT
(3) IeTIASE (4) fedszwa s

124. S f 3 5 ffeft 7 et 2 129 'E=-=% mue &9 faos fera g St e’
(1) W3 (2) feQudhnt s fa?n - 0 3
o« e 9] o e }=1 E-H- 3-H-
(3) T=TEAT S (4) frAfanmt3 . ﬁsﬁzé o
125. @EwiEtEs-gE 3 ... UeTdet T 130. EStHRYET ... CaCEC kT
(1) F9U& (2) TITA (1) T9Us (2) g=U
(3) Brz=t (4) =M (3) M3HT (4) TIgst

20



Direction : Read the passage given below and answer the questions (Q. No. 131-135)

Prafulla Chandra Ray was born on 2 August, 1861 in the district of Jessore now in Bangladesh, close to the
birth place of Madhusudan Dutt, widely regarded as the 'Milton of Bengal'. It was the best of times and the worst, the
British had by now perfected their role as masters and British values permitted the Indian upper classes to the very
last detail like table manners. That, of course, was not the worst of the British influence. What was far more
demeaning to the educated Indians - was the fact that senior government positions were closed to them. Being
forfeited of one's right in one's land to birth would become the rallying point for the Indian intelligentsia in the years
to come. Ray's father Harish Chandra Ray, a man of learning and taste was closely associated with the cultural and
intellectual leaders of the time and exerted great influence on his son. Ray had his early schooling in the village
school founded by his father but soon his father shifted to Calcutta and at the age of nine, little Prafulla set eyes for
the first time, on the bustling city that would be his home for many years to come. He was filled with wonder at the
ever-changing sights and sounds of the city. His formal schooling was interrupted due to iliness but that did not
affect his education.

131. Whois considered as 'Milton of Bengal'? 136. My father is SDO in the electricity board.
i oose the correct determiner from the
(1) Harish Chandra Ray (Choose th t determiner from th
(2) PrafullaChandraRay {;’)"°;"'"9) 0 ar
(3) Madhusudan Dutt (3) the (4) some
(4) Jasoore
137. Narinder works hard his brother is lazy.
132. Intelligentsiahere means (Choose the correct conjunction)
(1) upperdclass (1) as (2) whereas
. o (3) so (4) although
(2) intellectuals considered as a group.
(3) individuals of a society. 138. ldo not play cricket. (Change into present perfect
(4) natives of Bengal. tense)

(1) Ihave notplayed cricket.
(2) ldidnotplay cricket.

(3) lwillnotplay cricket.

(4) Iplayed cricket.

133. Who was associated with the cultural and
intellectual leaders of the time?

(1) PrafullaChandraRay

(2) Madhusudan Dutt 139. "You did a great job!" Choose the correct type of
(3) Harish Chandra Ray Sentence.
(4) Jessore (1) Optative Sentence

(2) Interrogative Sentence
(3) Imperative Sentence

134. How old was Prafulla when he visited the city for (4) Exclamatory Sentence

the first time?

(1) seven (2) eight 140. Choose the correct punctuated sentence.
(3) nine (4) ten (1) this is my mother's office where she comes to
work everyday
135. The word 'demeaning’ means. (2) This is my mothers office where "she comes to
, work everyday".
(1) ypgrgdmg (2) resp.e.ctful (3) This is my mother's office where she comes to
(3) insulting (4) admiring work everyday
(4) This is my mother's office, where she comes to
work everyday
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HYTS' ¥eq BT Aol HIferT g+ |

1) | 2) AU
3) HreAl 4) X
qfT 2o BT WL dgaad g |
1) At 2) At
3) AT 4)  ifar

=1 fRg a1q wreaY § 9 HET 9eg g |
1) BRI 2) fUSRT
3)  dn—¢gR 4) W

EEGENCE IR N

1) e 2) 9G¥

3) B 4) |4l fadeg 8l
W fag ¢ vrsst ¥ @ yg wss g |
1) faemar 2) fawwar

3) fasgHen 4)  fqEHdr

aR=’ g BT Wl faviver famey
g |

1) uRfFEA
3)  OR=EA

aiR=mRe
aTiR=R®

2)
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fader - f=faRaa gener &1 yeax fag w1
Jgddfcud Ul (U o 148—150) B IR
dforg—

148

149

$5%aX BT aXGIH © 41,

w9 Real # we 8 =1 |
SERSIEEEIR IR FIGIE:
GEREGIEE RS

®fq 7l B foasr e o W@ &7
1) AHI BT

2)  TERBI

) 37U HIAT BT

) 39+ fudr &1

w

4

T g4 BI-—4T1 UTS UgTdl 27
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